
 

 

Anglický jazyk 

3. ročník 

 Väzba „there is,  there are“ 

                                                    Väzba „tu je, tu sú“ 
 

1. Write the correct word under the picture.  

    (Napíš správne slovo pod obrázok) 
 

banana     melon     frog     tree 

 

          

 

 

 

 

There is a frog.          There is a ____________.          There is a ____________.         There is a ____________.    

     

                

2. Write the correct word under the picture.  

    (Napíš správne slovo pod obrázok) 
 

cats    flowers    tomatoes    birds 

 

 

 

 

 

There are tomatoes.         There are ____________.        There are ____________.       There are ____________.        

 

 

 

3. Colour the picture. Finish the sentences. Choose correct word. 

    (Vymaľuj obrázok. Dokonči vety. Vyber správne slovo.)  
  

There is the ________. 

There are _________ flowers.  

The sun is _________. 

There is one _________ and one ________. 

There are _________ trees. 

  

 

family    five    yellow    cat    dog    four  

 

 

 

 


